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Note : (i) Attempt all the sections as per instructions.

e 1) Log table will be provided as per demand.
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Section—-A
- (as-3)
(Very Short Answer Questions)
(i g owda we)
Note : Attempt all the five questions. Each questi.on carries 2
MArks. 5x2=10
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3.

Ive the followit® ystem by Cramer’s rye :
Solve

ny:‘ "3
dy=>"
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3x+4y=51"Y7 3

Find the amount of regular annuity of Rs, 5000
payable at the end of €ach year for 3 years ot 109
per annum compounded annually.
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( 3 ) . . .
Find the eXpang;gp of (1 + x)" using Binomial

theorem.
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Evaluate the Jimj -

x2-49

Section-B
(ave-q) .
(Short Answer Questions)
(g Fwla )
Note : Attempt any two questions out of the following
three questions. Each question carries 7.5 marks.

2x7.5=15
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(4)

o A =[2
Show that the matrix A = [1 :;] satisfies the

equation A3 — 442 + A= 0.
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A -4 +A=05 T s 2.
How many permutations can' be made out of the

letters of the word “TRIANGLE” ? How many of

these will begm with T and end with E 2.
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: (2x+5)
Evaluatc:_f(x2+5x+9)
_(2x45)

(x24+5x+9)
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S_ectio“’c
(%)
(Detailed Angyer Questions)
(P et
Note : Attempt any three guestions out of the followmg
five questions. Each question carries 15 marks.
} 3x15=45
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9. st;lg matrix method to solve the following

équation :
x+2y—-3z=-4
2x+3y+2z=2
3x 3y — 4z=11
wmammeﬁwm
x+2y-3z=-4
2x+3y+2z=2
3x-3y-4z=11
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10.  Prove that "C, + &

®

= “+1C
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11. (a)

(b)

12. (a)

(b)
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Find the coeflicient of x7 in the expansion

of (x’ + i)u
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Find the middle term in the expansion of

-3)"
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a9 = A - lim (5x2+31—6)
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2x2~5x+1

Differentiate Vax’ + 2by 4 ¢
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(7)
On What sum vjll the compound interest for

2 years at 5% per annum be Rs. 246.
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A2 af A Rysry 246 B0 B ST |

A certain sum amounts to Rs. 798.60 after.3
years and Rs 878.46 after 4 years. Find

interest rate and the sum.
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